
Q. Solve the following questions: 

1. Sometimes we see that farmers loosen the soil. What is the reason behind it? 

2. What changes are observed in diaphragm during inhalation and exhalation? 

3. Which type of respiration is found in yeast? 

(a) Aerobic respiration 

(b) Anaerobic respiration 

(c) Respiration using oxygen 

(d) None of these 

4.In the process of respiration following gets oxidised? 

(a) oxalic acid 

(b) glucose 

(c) lactic acid 

(d) All of these 

5. Respiration in human beings: 

(a) involves exchange of gases 

(b) involves inspiration and expiration 

(c) involves oxidation of glucose 

(d) All of the above are correct 


